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1 GWEN Fg GmY
M 6.0kg 6.0 8.0

ME 8.0kg 46.67 10

r 7.0M
Fg 8.0 10 ON

2 9 NEN Fg Gmj
M Mz M

F 30 m GMI
Fg 2.0 10 N m toff

6.67 10 1

1600kg
PROPORTIONAL

TO

3 Fgatz
Ig IS INVERSELY PROPORTIONAL TO

THE SQUARE OF THE RADIUS

IF r IS INCREASED BY A FACTOR OF 10

THEN Fg IS DECREASED BY A FACTOR OF OF
700 10 7N



4 a Fg mg
1.0 105 9.8

9.8 105 N

b given Fg Gm't
Mi ME 5 98 1024kg

r 2

6.67 10.11
598 1024 1.0 05

ME 1.0 105 kg 128 ooo ooo
r 128000km 128000000M

F 2400N
g

c GIVEN Fg _Gm Y
M ME 5.98 1024kg

o y
5.98 1024 1.0 105

ME 1.0 105 kg
384000km 384000000M

384 ooo ooo

f 270 N
y

d given Fg Gm
Mi ME 5.98 1024kg

r 2

6.67 10.11
598 1024 1.0 05

ME 1.0 105 kg 1.5 10
2

r 1,5 108 km 1.5 10 m

F 0.0018N
g



5 a GIVEN Fg _Gm
Mi ME 5.97 1024kg

r 2

16.67 10
a
597 102 60.0

ME GO 0 kg Foot
r 6356km_6356000M

Fg 591N
ANSWERS
WILL VARY

b GIVEN Fg Gm
Mi ME 5.97 1024kg

r 2

16.67 10 a
597 102 60.0

ME GO 0 kg 1637
r 6378km_6378000M

F 587N
g ANSWERS

WILL VARY

c Itg Fazl
PERCENT DIFFERENCE

Fg 1 Fg AVERAGE

z
OF Fg ANDF

1591 587
5912587

0.00691 0.691

d 0 mass DOES NOT DEPEND ON

THE GRAVITATIONAL FIELD STRENGTH



G a given g GE
M 6.39 1023kg 63

3390km 3390000M 6.67 15
i9

3390000

g 3.71K
kg

38 OF THE 9RAVITATIONAL

FIELD STRENGTH ON EARTH

b Fg Mgmars
60.01 3,71
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0

7 KINEMATICS
Vf at

GIVEN Vf at

4 0 a If
t

Vf 15 I
t 5 Os 5.0

a 3 oFz

given 9 672
I r

g a 3.0kg m

r 6,38 106 M 130716.300 1065
M 6.67 10

1.8 1025 kg



8 GIVEN g GIT
r 174 10 m

p wigM 7.35 10 kg 1.74 10672

g 1.62752

KINEMATICS
GIVEN
vi 3 IE
wEoaaEEEfiYnEVf0 UP TO BE POSITIVE
a gmoon 1.62Fz O

D vii Zad
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D
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2 f 1.627

3.2 m


